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Answer Keys [XEl

1) is — are (2H: FOf file folders®! FAT ZX|)
On the right side of my desk are file folders containing the main lectures | will be giving this year.
Lio| Mat @2 Zof= \ I E07F ALt \ FL 27t S0{/Us @ E6) \ W7t S8 & (&2,

2) O (2H: 0] the experience of wine tasters®l 20 =X
Perhaps even more striking is the experience of wine tasters.
oot W O =2k A2 el AZ7+E2 ZHHOo|C.

3) you should fail — should you fail (&) if you should fail (2A: if 7FE% ZX|)
The beauty of not trying too hard is that, should you fail, you can always say that it is irrelevant to your ability.
HFE So] =3okA| Y= Aol FE2 \ 3A| HmsiEEiy, \ SM0| gy 2 & Atk Aot \ 20| g
Ao St FRSICE,

5) is — are (271: 0] all the other dishes® =0 EX|)
The turkey is in the center of the table, and surrounding it are all the other dishes we typically enjoy at
this holiday: potatoes, green beans, cranberry salad, rolls, and gravy.
HOZE AR JY0 1, \ O FHo= \ 2= CHE 22[50] ULk \ 227t 0] FEO| HYHo=z &7
= (REl): \ &AL =& A E] H2E, F 2|2 d0[8]

6) did ~ come — came (Z71: 0{ one of his most important discoveries® FAtT EX|[& SO V &=A{Qt HiE)
From these observations came one of his most important discoveries.
Olzfgt HEZREH \ 19 7IY 2%t &H T StLi7h LIRTE

7) O (Z2A: 0] the popularity ~ QI £AF EX|)
With the introduction of e-mail came the popularity of the @ symbol.
ojfjgel ez \ @7|=22 27|7F UAA EIULC.

8) it had been me — Had it been me (S£+=) if it had been me (ZA: if 7FE'Y X))
Had it been me, | would have given him some money and left.
Li2tH, \ oA =2 F10 \ HFHZ Aok

9) signed — did my mother sign (Z27: 280 =X|= do/does/did + S + &. &)
Not only did my mother sign the doctrine for my fourth-, fifth-and sixth-grade teachers, but she also cut
the stick and put my name on it before she gave it to each teacher.
OoftL= MYSHIE #BF OfL 2t \ 4, 5 6atd MUHSS st wa2(of, \ 7§ X210 \ W 0§22 X
Ch\ RS 4 ddHSH =71 Hol.

10) do — are (Z71: unique?l YEAI0|EZ beSAt 2R)
Not only are humans unique in the sense that they began to use an ever-widening tool set, we are also
the only species on this planet that has constructed forms of complexity that use external energy sources.
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11) or — nor (Z71: or2 EX|7} YOILIX| @fF nor + V + 9)
Very early on, your baby will not understand what you are saying, nor will he appreciate any pictures, but
he will soon start to identify words and sentiments through the tone of your voice.

o< &%, \ ilel ot Olsistr| e Aol \ O] Hol= AS, \ YOS
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12) O (271: £H80 =X|&= 280 + do/does/did + S + &. &)
Only after our interview did | learn that this contented and still active eighty-nine-year-old grew up in
poverty and suffered the loss of her husband and one of her children.
OIElF =O0IMOF \ Lb= A EACt \ O] TEAFD oS 23X 89M2] Q10| \ ZHASHA A&t \

JdIHe| HHEnt A F of S &2 A2z ASUUACHE AS.

13) did — were (Z71: H|2 CHAO| Prisoners were turned 0|22 beSAt IAHY AMR)
Prisoners were often turned into slaves, as did criminals.
IS 53 L2 HACH \ HAXESNE.

14) are — do (271: H|1 CHAO| cows have the same rights 0|22 HtZALO| CHSSH=E do AHR)
In this city, cows have the same rights on the roads as are drivers.
Of =AM, \ &52 Z2 HE|E 7180 \ E20| \ 2FXAS0| 23 AN

15) O (2H: Their enjoyment suffers, too2| 2|0])
When coaches and players lose their mental and emotional focus, their performance suffers. Of course, so
does their enjoyment.
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16) O (Z71: F0f a forbiddingly vertical volcanic island@! SAFE E=X])
In the South Pacific Ocean, five hundred miles off the coast of central Chile, is a forbiddingly vertical
volcanic island, seven miles long and four miles wide.

HEHEYOl=, \ E SF SHfofA 5000t BOIT (HEHEOIE), \ &®SHA A2 shitdol /o, \ Z
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17) are — is (2H: 0 an unstated assumption®! £AFL EZX|)
But behind these considerations is an unstated assumption: that it is one person’s ten unaided fingers that
produce the sounds.
Jd2iLt of2fet nEjAlet Flofls \ F12 7PY0] ALk \ HEZ oF ARO[ 10712 MEIFEO] \ 1 22|18 TS
Of HCha,

18) can turn — can its possessor turn ~ (27: only 80 EX|&= 280 + T At + S + &.8)
Only when the information is repeated can its possessor turn the fact that he knows something into
something socially valuable like social recognition, prestige, and notoriety.
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19) are — is (ZH: T the role Q| 2™ Z=X|)

Only after a keystone species disappears are the role they played revealed.
SHYTO| AR2HE =ojjoF \ HEO[ \ 3S0| ot (YZO|) =L

20) they will reveal — will they reveal (Z27: 80 EXl= 20 + ZFA + S + 3.8

Sometimes your professor will provide hints about what to focus on, but rarely will they reveal what you
don't need to know.
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21) O (2H: F0] the question®! 20O EX|)
Closely related to the debate over readers’ conceptions of fictional characters is the question of the nature
of the emotions that readers experience.
=dar LA 2T0| ALt \ 7L =0l thet =XE2l JHEo| et (=d) \ &Fel 220 Cist
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22) determines — determine (ZM: 280 E=X|& BEHN + ZTAt + S + 5.8)
Not only can the climate determines what type of greenhouse to build, it can play a critical role in
determining how a greenhouse will function after it is built from one season to the next.
JlgE 28 ET o2 \ O FRO| 24E X[SX|, \ ST IS ottt \ BFSH=H \ 220 o
A 7ISERIE \ XOfT 20 \ o AZEAM CtE ARZ

23) this is critical — is this critical (271: 280 =X|&= 280 + V + )
Not only is this critical for the earth's water cycle, but it also cools the surrounding air and helps rainfall.
O|2 FQY WO OfLlat \ AT 2 2O, \ Fwo| B7|S AB|T \ 2LE SLrt

oT=

24) nor it is — nor is It (&7: nor + V + S)
The key factor here is not the capability of being a team player, nor is it the team spirit itself.
ol7|0fAf iy 2aE \ E 2201017t El= S8E ofL{d, \ B 4 I XM= OfLCh

25) has — is (ZA: their expertise is narrowly defined 2| 2|0])
Not only is their expertise narrowly defined, but they often lack any concept of how to interact with or
inspire young musicians.
ASo| MEXIMO| A Fol=lof /S & otz \ OS2 FF o Hde RFLt \ uRdt= LHOIL

\ H2 SYVE0A SEE F= LE et 1)

26) does — was (Z7: be content with '~0ff ZHESICHE contente= HEAL - is2 0T AFRE FE M)
Rarely does he content with what may have seemed clear-cut and obvious to others.
= Aol BESHA| @ECh \ 20kl W) 2RSS K= R2= Ao \ OE AlEESHAE
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27) O (2H: FO{7t different societies®l 250 EX|)
However, this agreement about morality must be reconciled with the fact that not only do different societies
seem to have different moral codes, but even within a single society, rational people often disagree about
what morally ought to be done.
SHATE =H40 oist o] &el= \ =SPE(0OF SHot \ 1 Atmb \ O ARR|SO| CHE =Y s 7 A
MY HY 0 otLfEl \ T ARl WOIME, \ eEHQl ARE2 FF S2ISH| H=Che Atd) \ =9F

o=z F0[ £[0{MOFZF SH=X[0f CHH.

28) someone invests — does someone invest (Z2: £H0 EX|l= 2H0 + do/does/did + S + &)

Because of this, only rarely does someone invest millions of dollars constructing a building that encroaches

on someone else’s land without permission.
OlA W=0f, \ E=Ct \ O AtEO| 9Dt &S FXISH

#ots (d=23) \ o7t 8lol.
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29) didn't — did (271 neither0f] £¥A o|0| ==l
Early humans did not possess any natural weapons, such as large sharp teeth, strong hoofs or poison, to
defend themselves against the dangers lurking on the savannas. Neither did they operate in large herds.
X7| ARE ARSIK| UUACH \ OfF XUH 2|, \ O|F Sof A1 L2 o, U wF E&
20|, \1E 2225 HosPy| o) \ YHORRE \ CIAM EAZID Ys (9IF). \ 152 2

Al O|FX| BRUCL

30) is — does (Z71: Total consumption declines®| 2|0])
Personal income declines and as total personal income falls, so does total consumption, and this lowered
demand translates into reduced corporate profits.
WQ 50| gastn \ & el 50| BofHo| w2t \  F AH|E s, \ o] RFT +=2& 0|0

Ch\ g2E 71gel o9z,
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31) Since they moved in, / never have | had a good night's sleep.

32) Little did | expect that | would ever meet him again.

33) Not only did she win the race but she also broke the world record.

34) Equally various were the answers to the third question.

35) Never have | had such a terrible experience with a restaurant.

36) Little did | know that | would end up hating dogs because of this.

37) Not only did | explain the problem to the couple, but | even suggested solutions.

38) No sooner had the thief seen the police, he ran away.
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39) On a hill within the park are curved terraces and multicolored tile seats.
40) Only after we finish this project can we get a paid vacation.

41) @ that — what / @ showing — show / ® have — are
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42) @ was — were / @ included — including / ® Which — What
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43) @ so — neither / (3 work — to work
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44) ® Had Beethoven been (&) If Beethoven had been / (& were based on
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